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l . SO mu cua 10

Tén:__ Ngaythang:_ Piém:__
—3x10= 10° =
5.67+10° = 10% =
9x10 = 10* =
10° = 436 % 10 =
9+10° = 0% 10° =
4x10° = 8.89 x 10° =
7.72 % 10° = 10° =
7.17 x 10* = 834+ 10% =
10° = 10° =
—2x 10" = 784+ 102 =
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ARGEA

SO6 mu cua 10

Tén:
—3x 10 =-30
5.67+10* = 0.0567
9 x 10 =90
10° = 1000000
9+10°=9
4 x 10° = 4000
7.72 x 10* = 772
7.17 x 10*> = 717

10° = 100000

-2x10" =2

Ngay thang: Piém:

10°> = 100000

10* = 10000

10* = 10000

436 x 10 = 43.6

9 x 10° = 9000
8.89 x 10° = 8890
10° = 1000

8.34 + 10° = 0.0834
10° = 1000

7.84 +10% = 0.0784
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